

, SO₂, HCN, O₃, CO₂, OCS, HCOOH, CH₄, CH₃Cl.

N

0, $U=0$.

$$T = \sum_{i=1}^N \frac{M_i V_i^2}{2} \quad (1)$$

M_i - , V_i - .

V_i .

S.

$$V_i = [\tilde{S} \times R_i] \quad (2)$$

R_i

i - .

(2) (1)

$$T = \frac{1}{2} \sum_{i=1}^N M_i [\check{S} \times \mathbf{R}_i][\check{S} \times \mathbf{R}_i] = \frac{1}{2} \sum_{i=1}^N M_i \check{S} [\mathbf{R}_i \times [\check{S} \times \mathbf{R}_i]] = \frac{1}{2} \sum_{i=1}^N M_i \{R_i^2 \check{S}^2 - (\mathbf{R}_i \check{S})^2\}$$

$\check{S}_r \check{S}_s$

$$T = \frac{1}{2} \sum_{rs=X,Y,Z} I_{rs} \check{S}_r \check{S}_s \quad (3)$$

I_{rs}

$$I_{rr} = \sum_{i=1}^N \{R_i^2 - r_i^2\} \quad (4)$$

$$I_{rs} = -\sum_{i=1}^N r_i s_i \quad (5)$$

$r \quad s$

X, Y, Z

$$I_{rs} = I_{sr} \quad (6)$$

(3)

$$T = \frac{1}{2} \check{S}^+ I \check{S}, \quad (7)$$

\check{S}^-

$\check{S}_X, \check{S}_Y, \check{S}_Z, I^-$

3×3

(3)

(7)

$J,$

$$J_r = \frac{\partial T}{\partial \check{S}_r} = \sum_{s=X,Y,Z} I_{rs} \check{S}_s, \quad (8)$$

$$J = I \check{S} \quad (9)$$

(9)

\check{S}

$\check{S} \quad (7)$

$J,$

$$\check{S} = I^{-1} J$$

$$T = H = \frac{1}{2} J^+ I^{-1} H^{-1} J = \frac{1}{2} J^+ I^{-1} J = \frac{1}{2} \sum_{rs=X,Y,Z} (I^{-1})_{rs} J_r J_s \quad (10)$$

J_r

:

$$\begin{aligned} J_r &= \sum_{i=1}^N [\mathbf{R}_i \times \mathbf{p}_i]_r = \sum_{i=1}^N M_i [\mathbf{R}_i \times \mathbf{V}_i]_r = \sum_{i=1}^N M_i [\mathbf{R}_i \times [\check{\mathbf{S}} \times \mathbf{R}_i]]_r = \sum_{i=1}^N M_i \{ \check{\mathbf{S}} R_i^2 - \mathbf{R}_i (\mathbf{R}_i \check{\mathbf{S}}) \}_r = \\ &= \sum_{i=1}^N M_i \{ \check{\mathbf{S}} R_i^2 - \mathbf{R}_i (\mathbf{R}_i \check{\mathbf{S}}) \}_r = \sum_{i=1}^N M_i (\check{\mathbf{S}}_r R_i^2 - r_i (\mathbf{R}_i \check{\mathbf{S}})) = \sum_{s=X,Y,Z} I_{rs} \check{\mathbf{S}}_s \end{aligned} \quad (11)$$

\mathbf{J}

1:

$$\mathbf{J} = \sum_{i=1}^N [\mathbf{R}_i \times \mathbf{p}_i] = -i\hbar \sum_{i=1}^N \left[\mathbf{R}_i \times \frac{\partial}{\partial \mathbf{R}_i} \right] \quad (12)$$

(10),

I_{rs}

I_{rs}

$I_{rs}, r \neq s,$

0.

$$H = \frac{1}{2} \sum_{a=X,Y,Z} (I^{-1})_{aa} J_a^2 = \frac{1}{2} \sum_{a=X,Y,Z} \frac{J_a^2}{I_{aa}} = AJ_a'^2 + BJ_b'^2 + CJ_c'^2 \quad (13)$$

, $A, B, C -$

$A \geq B \geq C.$

:

$$A = \frac{\hbar^2}{2I_{aa}}, \quad B = \frac{\hbar^2}{2I_{bb}}, \quad C = \frac{\hbar^2}{2I_{cc}} \quad (14)$$

:

$$J'_a = \frac{J_a}{\hbar}, \quad J'_b = \frac{J_b}{\hbar}, \quad J'_c = \frac{J_c}{\hbar} \quad (15)$$

,

,

J

,

.

$$[J_r, J_s] = ie_{rsx} \hbar J_x \quad (16)$$

:

$$[J_a, J_b] = -ie_{abc} \hbar J_c \quad (17)$$